

7. (A) $\sqrt{7-3\sqrt{7-3\sqrt{7-3\cdots\infty}}}=x$ (Let)

$\Rightarrow x^2 = 7 - 3x$
 $\Rightarrow x^2 + 3x - 7 = 0$

$\Rightarrow x = \frac{-3 + \sqrt{9+28}}{2} = \frac{\sqrt{37}-3}{2}$

8. (C) As we know,

If $\sqrt{a \pm b\sqrt{a \mp b\sqrt{a \pm b\sqrt{a \mp \dots\infty}}}} = n$

Then $n = \frac{\sqrt{4a-3b^2} \pm b}{2}$

So, $\sqrt{4+\sqrt{4-\sqrt{4+\sqrt{4-\dots\infty}}}}$
 $= \frac{\sqrt{4 \times 4 - 3 \times (1)^2} + 1}{2} = \frac{\sqrt{13} + 1}{2}$

9. (C) $\sqrt{7-\sqrt{7+\sqrt{7-\sqrt{7+\dots\infty}}}}$
 $= \frac{\sqrt{4 \times 7 - 3 \times (1)^2} - 1}{2} = 2$

10. (C) $\sqrt{7+3\sqrt{7-3\sqrt{7+3\sqrt{7-3\cdots\infty}}}}$
 $= \frac{\sqrt{4 \times 7 - 3 \times (3)^2} + 3}{2} = 2$

11. (A) $\sqrt{7-3\sqrt{7+3\sqrt{7-3\cdots\infty}}}$
 $= \frac{\sqrt{4 \times 7 - 3 \times (3)^2} - 3}{2} = -1$

12. (D) $\sqrt{7\sqrt{7\sqrt{7\sqrt{7\cdots\infty}}}} = 7^{\frac{1}{2}} \times 7^{\frac{1}{4}} \times 7^{\frac{1}{8}} \times 7^{\frac{1}{16}} = 7^{\frac{15}{16}}$

13. (D) $\sqrt{7\sqrt{7\sqrt{7\sqrt{7\cdots\infty}}}}$ 10 terms

$= 7^{\frac{1}{2}} \times 7^{\frac{1}{4}} \times 7^{\frac{1}{8}} \times \dots \times 7^{\frac{1}{1024}} = 7^{\frac{1023}{1024}}$

14. (A) $\sqrt{7\sqrt{7\sqrt{7\sqrt{7\cdots\infty}}}}$ $= 7^{\frac{1}{2} + \frac{1}{4} + \frac{1}{8} + \dots} = 7^{1 - \frac{1}{2}} = 7$

15. (D) $\sqrt[3]{7\sqrt[3]{7\sqrt[3]{7\cdots\infty}}} = 7^{\frac{1}{3} + \frac{1}{9} + \frac{1}{27} + \dots} = 7^{\frac{13}{27}}$

16. (C) $\sqrt[4]{2\sqrt[4]{2\sqrt[4]{2\sqrt[4]{2\cdots\infty}}}}$ $= 2^{\frac{1}{4} + \frac{1}{16} + \frac{1}{64} + \frac{1}{256} + \dots} = 2^{\frac{85}{256}}$

17. (B) $\sqrt{2\sqrt[4]{4\sqrt{2\sqrt[4]{4\cdots\infty}}}}$ $= 2^{\frac{1}{2} + \frac{1}{12} + \frac{1}{72} + \dots} \times 4^{\frac{1}{6} + \frac{1}{36} + \frac{1}{108} + \dots}$
 $= 2^{\frac{1}{2} + \frac{1}{6} + \frac{1}{6}} = 2^5 \times 4^5 = 2$

18. (B) $\sqrt{3\sqrt[3]{9\sqrt{3\sqrt[3]{9\cdots\infty}}}}$ $= 3^{\frac{1}{2} + \frac{1}{12} + \frac{1}{72} + \dots} \times 9^{\frac{1}{6} + \frac{1}{36} + \frac{1}{108} + \dots}$
 $= 2^{\frac{1}{2} + \frac{1}{6} + \frac{1}{6}} \times 9^{\frac{1}{6} + \frac{1}{6} + \frac{1}{6}} = 3^{\frac{3}{2}} \times 9^{\frac{1}{2}} = 3$

19. (D) $\sqrt{x\sqrt{x\sqrt{x\sqrt{x\cdots\infty}}}}$ $= 4$
 $\Rightarrow \sqrt{x^4} = 4$
 $\Rightarrow x^2 = 4 \Rightarrow x = 2$

20. (D) $\sqrt{1+2\sqrt{1+3\sqrt{1+4\sqrt{1+5+\dots\infty}}}}$ $= 3$
 $3 = \sqrt{9} = \sqrt{1+2\sqrt{16}} = \sqrt{1+2\sqrt{1+3\sqrt{25}}}$
 $= \sqrt{1+2\sqrt{1+3\sqrt{1+4\sqrt{36}}}}$
 $= \sqrt{1+2\sqrt{1+3\sqrt{1+4\sqrt{1+5\cdots\infty}}}}$